(AR EXTMEBEREESXABERMFES14RDVEYYHI—KE
Erk24478280 FBU—Y

FREI)—THR
AJovy H & # & € H X K B R | & x| B
H 1!2 1-5 0—3 0 4
& 2(—)1 1!6 0—5 3 3
£ H 5(—)1 6(—)1 oéo 7 +9 2
Xz 390 5(—)o oéo U +8 1

Boovy ' x JBHEEX AT FREE— | B R | & X | B

g x 2!3 391 490 6 2
JAHEEX 392 391 590 9 1
HEHE 1!3 1-3 291 3 3
FEE— 024 0—5 1!2 0 4

CJowvwsy |(F54~)—| & W |L—oHxTxN J\BTH B R | & X | B fx

_ o A [ ]
FS54<)— gt 0zo g 1 -8 | 3
= ©) O O
W 7—1 4—1 4—0 9 ]
A o
L—o9T2N 2 2. s 1 | —14| 4
O [ O
AR 3—1 0—4 12—1 6 2
DJovs B A P x FEsE | B R | F K| B
e O O O
A st 3—0 3—0 2—1 9 1
& 2 © 3 3
0—3 2—1 0—6
% I ¢ 0 4
0—3 1—2 0—2
FEyE ® © 6 2




(A EXTHLBIEESEXABRERENRSEF14EIVEYYyH—KE
E24FE7A298 REb—F Ak

REB—F AV MER

72 B FErEYYH—AR—YDEH

B B 279 R—ILO5T

= INBHIVrR—ILI5T
LR —HERE £BRIYNR—ILITT

B B HLrESYH—RR—VLER
I

6—1
2—0 2—0
2—2
|PK(0—1) | 2-3 I 3-0 | I 3—-0 |
£H HFE~+E KRHEX J\HW™ =i BT k% KiF
| 6—0 | | 2—4 |
2—0 34z J\ATH
LR &R £H I 5—0 |
AN = I TR 5
RKSahyTHER
g B BEE—Yyh—AR—YDEH
B FAaRR—Y D ERYYH—ER
= fif L= IR a=F7IoybiR—ILO5T
ILUR) Bl T3M47)—Yvh—9357
B B BEfE—Yyh—AR—YLPEH
0—0 PK(1—2)
8—0 7—0
Il N R R
#a EJI AEFE Lv—svTRb I54<)— BEEE— EHiF A
1—1
I PK(3—2) | I 3—0 |
1—4 3z L—2
LR —EE T3147)— 5—1

L—oyIRh RE



